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To receive eredit you MUST SHOW ALL . YOUR WORK. Answers which are not supported by
work will ‘riot ‘bé considered.

1. (8 pte) Fill'in the most appropriate words or symbols:

{(a) If zq is a critical Point for the function f(z), then f'(zg) is

(b) ¥ f*(2) <0, for all z € (a,b), then on the-interval (a,d) the function f is

(e} I f g} =0 and: F¥{xe). >0, then 2y is a oo i for the function f(z).

(d) L'Hopital’s rule applies to limit indeterminate forms of the type

2. (16 pts) Commite sach of the followig limits (8 pts each):



3. (24 pts)-Find the indicated antiderivatives (6.pts each):

(b) '[’2x35+1 &

(c);\ffs’in‘.“(ét_):cos(at)_dt '

@ [svaTE a



4. (14 pts) Suppose you. are allowed to choose a rectangular, plot of land along a (straight) river. The rectangular
plot: is to have aniares. of 3000 square méters. -You dre required to ferice in-your land using two kinds of féncing.

river) will: use standard fencing selling for. $10. permeter. Howshould you choose the dimensions of your plot of

{arid in order to ‘miniinize the costiof fencing? (It’s OK if your result contains:square-roots.)



5. (12:pts) Find all critical points.of the function: f(z). = #* ~ 22° and determine their type (local minimuni, local
maxifinun;. o1 neither).

6.{14 pts) A baseball ig thirown gtraight upward from ground level with an initial velocity of 96 ft/s.

(B)1{(6 pta) Wheil: does the ball teach thie: ixaximm height?



inelude a sign chart indicating theintervals Where the function is ifcréaging, decteasing, concave up, condave down.,
To easé youritask, here areé the fornnlas for- the fitst and second derivative:

Fe) = trap IO o



